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b1(m) b2(m) b3(m) L(m) W(kN/m) P(kN/m)

55 1.370 0.000 0.000 1.343 21.170 9.764
56 1.342 0.000 0.000 1.327 20.733 9.846
57 1.314 0.000 0.000 1.312 20.307 9.916
58 1.287 0.000 0.000 1.297 19.890 9.976
59 1.261 0.000 0.000 1.283 19.482 10.026
60 1.235 0.000 0.000 1.270 19.082 10.067
61 1.210 0.000 0.000 1.258 18.690 10.100
62 1.185 0.000 0.000 1.246 18.306 10.123
63 1.160 0.000 0.000 1.235 17.929 10.139
64 1.137 0.000 0.000 1.224 17.559 10.147
65 1.113 0.000 0.000 1.214 17.195 10.148
66 1.090 0.000 0.000 1.204 16.837 10.141
67 1.067 0.000 0.000 1.195 16.484 10.128
68 1.044 0.000 0.000 1.186 16.136 10.107
69 1.022 0.000 0.000 1.178 15.794 10.081
70 1.000 0.000 0.000 1.171 15.456 10.048
71 0.979 0.000 0.000 1.163 15.122 10.009
72 0.957 0.000 0.000 1.157 14.792 9.964
73 0.936 0.000 0.000 1.150 14.466 9.913
74 0.915 0.000 0.000 1.144 14.143 9.857
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Y H X y V x Hy
(KN/m) (KN/m) (m) (m) (kN m/m) | (KN m/m)
12.650 0.000 0.280 0.440 3.542 0.000
7.613 6.709 0.600 0.367 4.568 2.460
20.263 6.709 8.110 2.460
2 2
2
(8.110 2.460)
20.263
0.279m
% 0.279

0.121m




0.121m 2800 4433

20.263x0.500 0.000x0.800

6.709

1.510 1.5



20.263
— =T x

0.800

48.315kN/m2

20.263
— =T x

0.800

2.343kN/m2

q1 = 48.315kN/m2

q2 = 2.343kN/m2

6x0.121
0.800

6x0.121
0.800

ga = 300.000kN/m2

ga = 300.000kN/m2



oc1A

ocC

oC

(kN)

1,000x800
800,000mm2

1,000x800"2

106,666,667mm3

(mm2)

(N/mm?2)

(mm3)



Y, H X y V x Hy
(KN/m) (KN/m) (m) (m) (kN m/m) | (KN m/m)
12.650 0.000 -0.120 0.440 -1.518 0.000
7.613 6.709 0.200 0.367 1.523 2.460
> 20.263 6.709 0.005 2.460
X( 3 x1,000
2.460 0.005
20.263 *1,000
121.2mm
oc 20,263 20,263x121.2
800,000 106,666,667
0.048mm?2
5c2 20,263 20,263x121.2
800,000 106,666,667
0.002mm?2
oca OTCK 14—8 4 500 N/mm?2

ocl = 0.048 N/mm?2 oca = 4.500 N/mm2

oc2 = 0.002 N/mm?2 oca = 4.500 N/mm2
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Ta 200 +0.15 100 +0.15 0.330N/mm2

™m = 0.006 N/mm2 Ta = 0.330 N/mm2



